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ECONOMICS
Maximum : 80 Scores
: Time : 2% Hours
Cool off time : 15 Minutes
/General Instructions to Candidates : ' \
® There is a 'Cool off time' of 15 minutes in addition to the writing time of
2% hrs.
® You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.
® Use the 'cool off time' to get familiar with questions and to plan your answers.
® Read the questions carefully before answering.
® All questions are compulsory and only internal choice is sllowed.
® When you select a question, all the sub-questions must be answered from the
same question itself.
® Calculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary:
@ Electronic devices except nonprogrammable calculators are not allowed in the
Examination Hall.
mdeg U Ud:
® Mdglas MoEM alaea 15 dmlg ‘@i edad a6so’ 9esoldlenio.
MOWET G2l03)M@BHs SO af)PI®ICMI, DRIBRAINR0W] ADUW
Alrla®@o MSEMIEMD aldsIgl.
® HEMOTBR ag)P@MGIM BMT ¢2I0RYEBR YyELOADQe AUORIBSHEMO.
® o))pl0 GolOBYETRRENI0 HEMAO af)P®eEMmo. EDEREM@ G210 BO(@ED
@MU LN QRS
® &0 C2IOBYMMID HEMARDRLIONM HMOOETMSIOIN] SHFETMOBI Hal B2 I0CBYEIRRI0
@0E® 2103y OIAIE (AT GO HDAOATHSIELOHEBHOEN.
@ B6Mmds B5RBD, 2N@EBD, (1R, agaIal HEDE GaloGlBEMOHM
©6nz0Qf@le6eMo.
®  @DANYDIER MUOLIET MVDOIBYTRUD OE0SIE6HEMo.
® 210G DRIWORETIee M@HIRgENS.
® CIDNINBERD ©2IYIMIBOIDH HOMHNIERIROIBD B¥l0HWas 6]
K EDLIBESOSMES Hald-eMA0 alBldidan0s @ 6a18WOUIBNNIOM aloslg). /
K-834 1 ~ Turn Over



Worker population ratio is ...

a) Population / Worker
b) Worker / Population
¢) Population / Worker x 100

d) Worker / Population x 100 (1)

List any four effects which ‘the
miracle seeds' created 1n the

Indian agriculture. (2)

For a class room discussion

Ashna collected the following

information about present [ndia.
a) Infant mortality rate — 45

b) Life expectancy — 66.4

¢) Overall literacy level - 74.04

Compare them with the British

period and comment. (3)

Demographic data on birth and
death rates in India are collected
and published by ...........

a) RGI

b) NSSO

¢) CSO

d) Labour Bureau (1)
Distinguish between bar

diagram and histogram.

(Hint : Not to draw diagrams) (4)
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omowlRiogl-RMMely @Mld®o

QGYTNDET oo .

a) mmovossy/emOFeos]

b) emodelog/&mcely

c) 06/ O@mIFeng! X 100

d) emosieiog/Rmmoaly X 100 (1)
ED OIS £0dadl@caa a1
‘aoaey®  aflomies®@’ o )o'S) o)

ape@ssiage moel apeIEBd agPieid.  (2)

M ecieieel 21t 960@) EDAYM
Meales: surmyew mosruaulla) @oe¢

ajo@yrn - Qfinleemcd GUOBUDLY

a) dlioyaaem ofioee — 45
by ep@id secherio - 66.4

)V o20@mmo MOSYE® aoses - 74.04
00w EnfIgled #021501530.m00f
eolie

®ORDTY0 miemees

@Al o HClH0:. 3)

soomyefidd RMOM-DO6M MoNHOS
roosn Ul 24188 RO MR
enaualen@e  latmlasleelen

HW)o O2IQNBY oo
a) RGI

b) NSSO

¢y CSO

d) sewrud eniyend (1)

uod auW(NOmo Erellapdl{atel ({laltab e
marfienss Q@OMER agPImie.
{aro)alm - W (NODYB D

QUOEHOEBBIR) (4)



The various ranks secured by
Merin and Kanchana in four
medical entrance examinations
are ...

6.

moel’ e B [edBQIM
al@HMHElTd Oacimie HOARUMW o
BMNSIQ ORI ..verves

Exams Rank of Merin Rank of Kanchana
al@le D eadlen 0o, HODUMNMWOS OO
KEAM 1 2
ATPMT 3 4
JIPMER 2 3
AIIMS 4 1
Calculate the rank correlation 008 MaNEUTWo &HOMBEM! antlo

/ and interpret the result. (4) QU006 .

7. Find the one which is NOT a 7. @0dales flaigmmo
measure for improving 0.9} HASIAMEMISS mSals]eglad
agricultural market system. OAISOAD ... .o
a) Adeption of green re:vo_lution ) aodl® allgjale Eoecd o
b) Assurance of minimum

. b) mosmElel H0Q L6
support price ad
¢) Maintenance of buffer stock c) BB M0 NSO
&) Public distribution system (1) d) ealomycdleosm mmiaowe
/& a—~\a§ Name the system of farming 8. ‘@) eemai mormpeimo afleenzs e
/" that restores, maintain and e Mewrldamomye aidallafleand
enhance Ecological balance. (1) Mo Manoeflenmm @yad dlal.
b) Point out any three merits of b} 00 eyl dlafles aym (@iwdm
it (3) DYEMNETBUD i)l B06NT]B6) .

9. Prepare an essay on various 9. omoid mseflenedlo aflalw
policies and programs towards @0y MAD0ABRM MWEABEWO
poverty alleviation in India. Do I @laloSHeawle Moeiawlal 80}
you find any faults in the HalMOMo  OYO00HEd:. 607
implementation of these a®leHgles msamlafld mlemd
programs? Substantiate. ag) O M1 210 Bl DB R
(Your answer in three pages.) (8) S06MMEEE0?  (EMOo @M

: catgld Qllvdla:dlenvimid)

10. A value of correlation coefficient
(r) = +1.2 indicates — 10. maneimw myemomo (r) = +1.2
‘a) Pgrfect +ve correlation 0@ M2 la JEOUME ........

b) High 'degree of +ve 2) aydep saiomidlal maneimwo
correlation
b) swdm sadmigial avanerimue
¢) Low degree of +ve ) o ol
correlation c) @o¥m ealtomiglad mmoemcmio
&) Error in calculation 1) d) smemanyeygeld oigle oloe
K-834
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(1)

(1)

(3)

(8)
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11.

Identify the names of the steps
in a project to which you can

include the following statistical

(2)

11.

mlemR ai0laflgies ®IeY alOWim
MOoQydr  SalHREMEBOY  80]
Ol0RAE0e afe®mJoo OERa I
ORBOASIEDI0 )M EOENSTTDYE:.

tools you have studied.

Statistical tools
MVO0BUYE: HlBOEMETBUD

Steps in making project
6lalomBSIeL! HIRA 1D

a)

Personal interview
QUyBOTa a0 @EIDRI0

Collection of data
BEHEUEUDEMO

b)

Measures of central tendency
GBI (ICLEMDOWINS RGN

c)

Graphs and diagrams
((DOANERI0 AWR(UODIESI0

1/2. State the two senses in which the

word

Elucidate.

'‘statistics' 1s used.

/1/{ An import substitution policy.

a) Increase

in the tax on

imported goods

b) Fixing of quotas

¢) Enlarge domestic production

%{ All of these

/a)

b)‘

K-834

liberalization

Name the outcome of the two
policy strategies of
and

privatization.

Do you think that Indian

agriculture sector was
adversely affected by the

reform process? Justify.

(2)

o~
[
-t

1)

4)

12. ‘mvooceuydno’ ag)om alBo
J
8aIeOWISOLAM 06N @d®mO

®EIETBRD AROI? QUHMBOBD:.

13. woenaal @10e0malmiss 8o}
aWo.
a). DoHe 0o MOWMEBRDH)

30288 M@l Akavlafleee.
b) emiog oflvdnilees
c) OREMO 9BaIOBMo dhISie:

d) oeE@ al0emme®mEo0

14. a) 96oOAUGMHHVEMO, VjdHORYNITD
HOOEMe o) B6NE MW IPBOQ
®EmEBRD  Myayslay GOMIDHO
aNRIEHIOR Bald ag)PImIdes.

b) w00 (al@»l@  anyd
B00ald COEILINR BRINUSBOMOW
ag)om’
BOI®MEENZ0 7 MIOWIl BB

eruowlayy mles @
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(2

(1

1)

(4)
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;%State to which country the 15. @oey maislalalenym &mavoed
following demographic features EOOW  (EOIHOBD  ag®
®0£3yLRMOWS rMWBIQSlElENM.
belongs to.
- % (oz21m:- DD, HO2IM, aloESIMOOM)
(Hint : India, China or Pakistan)
a) oWAM (aI®lUBaY BMTVoEIYD
\ a) Highest annual growth of adavmal
population b) @a¥mm mmaom®
«’b) Lowest population density C) 06D algemAMen0eMo
%4 ¢) Less urbanization d) swdm gvauam afless (2)
>d) High fertility rate (2)
/( 6. Observe the graph. It is ......... 16. @ond Mded o). O ..........
Y
>
Q
=l
=
oy
)
=
l \
© Variable x
a) Uni-modal data a). 8y GoOW MOS8 BEHAROET
/) Bi-modal data b} ®eng’ emoieiss BemmoeT
c) Multi-modal data C) alfl GROIHRISR BOHROET
d) None of these 1) d) e emyog (1)
. Calculate the Consumer Price 17. paiceoB®y Qflel  (V)2I&I®o
Index (CPI). 3) D6 1106 3)
Ttems / epmepcd Weight (in%) Base year price Current year price
@60 (% @) @nslmnom Auday allel @ Qb allel
Food / @pacono 50 2000 - 7 3000 ¢
Cloth / aursieo 15 1000 1200
Fuel / sporwmo 25 400 700
Rent / cuos#s 10 500 600
K-834 Turn Over
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18. "Most of the surveys conducted 18. “‘epomyei@d MSEHYM al e
' in India are sample surveys". deEQ@alo MIMA MBECLEgem” .
Prepare any three reasons te O A IMIEHIUMOW akTTEMHRME)]
support the above statement. (3) MES oROMBIIAI0 DI HS:OEMETBUD
BEEBED)H:. (3)
/1/9. Which is NOT a pair? 19. emoa @pgPEma’ ©:66mEEmIH.
a) Tapas Majumdar Committee a) @’ 0%losod Hamlgl -
— Education aflggoeyome
b) Brundtland Commission - b) (enienEsSaiod daffloud® — quoudie
Sustainable development allémme
/65 Karve  Committee  — c) odeqy @algl — @yl
Agriculture d) VKRV ooqy - seule aiemomo
/d) VKRV Rao - National income BHEMBEIR6TD (1)
estimation (1)
}0. a) Name the relative measure of 20. a) \@oma aflaiemamion
standard deviation. (1) aptaiedle @ealed sald
b) Define SD. (1) IR 1)
¢) Calculate the standard b) aoma alaeimo mdaaless. (1)
data : (6) | GEMaBEes 20md aflaleimo
630 NS186))8. (6)
T
Marks - 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 6070 | 70-80
DORHEBR
No of students
21. Do India faces challenges in the 21, podem sosueii@d enomy
power sector? Elucidate. (3) saigpafigled®  maiaielenlen;
omieens0? AlERIees:. @3)
K-834 6



/2{ For conducting a survey among
200 households, Anumitha has
written the names ot all 200
households on pieces of paper,
mixed well and 20 names are

selected one by one. It is ...........
a) Census method
/HSVI Random sampling

¢y Nonrandom sampling

d) None of these (1)

}K"’V/While preparing a frequency
distribution from the raw data,
name the questions we have to
address. Briefly explain in 1%
pages.

(Hint : Four steps in the
construction of a frequency

distribution) (4)

/24{' The heights (in cm) of 11 plants

in a garden are

22,

23.

626

200 ®&syoeniemglad any qude
msamomo]  @mial®  mye et
EH)SI0ETIETBRIGSW 0 Bai@ldhlh 08GO
Gala|TI@ ag)9y@l, @oUlowf snsdheld

oo, @dld mlirmpe 20 calneRd
£060OMOWS af)SIET]. DD ........

a) emdmay dol aper

b) ooenzo quomich @psny’

¢) 006eNzd0-sD®mO qLOMAMD

d) spemommmgy (1)
@M dI®  ROM&mRI@MINio
@D QU y@vm] afleaem algl

MQOOIHHEBMUID HEMRE MEIEHENS
gas03yem@. L agar?  ea10)@owl
ANl @elens./ (8ma  ealRld

PIYGOICEIEN OIS

frgalm. - @palyeml  alleoem
daonlaiiales moal 1210is)e0d) 4)

8o aljegmogomieal 11 eaidlemgies

oo (em.al. oldd)

5 20 22 10 8

3 17 10 13 12

/ci) Choose the mode. (1)

Y Calculate the mean and
median height of the plants,
by using the equations. (4)

K-834

2) 6mO0 OMOEEMDSIAE:. (1)

b) eaiSl@meies ald, oalwn

OB KR U@ OLQ o) 683 (D
Saleouile] Bemsialislens. (4)
Turn Over



25,

28

v

Which one of the following

statements is NOT TRUE about

the employment sector in India?

a) 93% workers are in the
informal sector.

b) 50% of the workers are self-
employed.

Disguised and seasonal’

unemployment exist in the

Indian farm sector.

d) During 1972-2010 there was
a movement of workers from
to self-

casual wage

employment.
Define the term, 'Sustainable
development'. Suggest various
strategies for attaining it in two
pages.
Express your view in the
following aspects with reference
to the present human capital
formation in India.
a) Education for all
b) Gender equity

¢) Higher education

}'8./The current and base year prices

of a group of commodities are

Rs. 180 and Rs. 135 respectively.

It shows ........

a) price is said to have risen by
30.33%

"b) price is decreased by 33.33%

¢) price is increased by 133.33%

/d’) none of these

K-834
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(5)

1)

25.

26.

27.

28.

e emoic coale@now
nITWeQg @l @ROEM (ITI®OUM.

a) 93% emolangldale @MIal-
21006 enaeiRlene.

b) 50%
O®OFIA ©.21QONOIRAE.

o®mo¥lengldhalo  MjWo

c) (ataoam - &oeld emolelgoan
B MM B0daHle, caanieiiad
mleiml@eniam;.

d) 1972-2010
Helles) aleml@ymaidl@d mlomgoe

#081gndd

Mo O@IKED 2 IQRIMAIRIGRIHs)
a®0¥1106le:@ modl.

‘oyeudle afteemo’ AL e,
e emsomas. alaflw ®EmeaBd
MdeGUElseI8. (ens) Galled Home
g PYDES)

nomal melwm ojafleoemaaoel
MIMWOS @O6P alOemm]TlLe3mM
HHODEOBEIT, OTWIOS DEA]OPOTTD
@OIMAR® Mosnimwlal Mlemees
@dlalo®o (aldSlalBes:.

a) agoadesie alapeomo

b) eflotr avamio

¢) emm allapepmo

>
@slorunom

80y J30
QURaHEEm Q0
QIdauEEm@)o Aflale:d WLnd@-ac 180
®al@io 135 @alwie @M. @
BB ............

a) afler 30.33% &8l

MOWMETBIOS

b) allel 33.33% &y06mmoy,
c) alle 133.33% &8l

d) sl emyog)
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(1)

(5)

3)

8




